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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this-question paper.
2. All questions are compulsory and carry equal marks.
3. Each questions has an internal choice.

4. Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper.
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1. (a) What are the incomes included under the head ‘Income from other sources’?
' (10)

(b) - Explaifi the provisions of ‘House Rent Alfowance’ under the head ‘Salary’?
®)
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OR
(a) Mr. X submits following information for the assessment year 2016-17:
Basic Salary Rs. 6,00,000 p.a.
Dearness Allowance Rs. 80,000 p.a.
Medical Allowance Rs. 30,000 p.a. (actual medical expenditure : Rs. 25,000 p.a.)
Transport Allowance Rs. 60,000 p.a. (actual medical expenditure : Rs. 40,000 p.a.)
Uniform Allowance Rs. 8,000 p.a. (actual medical expenditure. Rs. 6,000 p.a.)

His company also gave him a cash gift of Rs. 7,000 on December 12,2015.

Compute taxable income and tax liability of Mr. X for the assessment year
2016-17 assuming he has earned a lottery income of Rs. 7,00,000. (10)

(b) Name the cases where receipts without consideration are not taxable as
income in the hands of an assessee as per section 56(2) under the head
“Income from other sources™? (5)
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2. (a) What are the conditions of section 40(b) related to deduction in the hands
of partnership firm for payment of interest on capital to the partners?(7.5)

(b) What is the role of ‘Book Profit’ in computing deduction in the hands of
partnership firm for remuneration paid to the partners? (7.5)
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OR

X and Y are two partners (2:1) of XY Co., a firm of lawyers. The income and
expenditure account of M/S XY Co. for the year ending March 31, 2016 is as

follows:

Particulars Amount (Rs.) | Particulars Amount (Rs.) |
Rent of chamber 8,00,000 Receipt from clients 23,31,000
Office expenses 3,00,000 Long-term capital gain 40,000 ,
Salary to staff 3,889,800

Depreciation _ 80,000

Remuneration to partners
X 2,00,000.
Y 1,60,000

Interest on capital to

partners @ 18%

X 36,000

Y 25,200

Other expenses 3,70,000 ]

Net income 10,000 .
23,71,000 23,71,000
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Other information :

(a) Firm fulfils the conditions of section 184.

(b) Depreciation allowable under section 32 is Rs. 78,000.

(c) Salary and interest is paid to partners as per partnership deed.

Income and investment of X and Y is as follows:

Interest on company deposits

Dividend from foreign companies

Contribution towards PPF

X(R's_:).
74,000
7,000

40,000

Y(Rs.)
50,800
11,000
60,000

Find out the net income and tax liability of firm and partners for the
assessment year 2016-17.

(15)
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3. Explain the following deductions covered under section 80:
(a) Deduction under section 80D related to medical insurance premium.
(b) Deduction under section 80QQB related to royalty income of authors. (7.5%2)
arl 80 & Jaeia el el sl < = i
(7) Fafrca S Wfew & @y ¥ amr 80D & iwia wedl
(@) dEw i Tae 0T D g9y A ur §0QQB H A Hek
OR
Explain the following deductions covered under section 80:
(a) Deduction under section 80C related to investments.

(b) Deduction under section 80G related to donations. (7.5x2)
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4. (a) When income in respect of remuneration of spouse is taxable in the hands

of an assessee? (7.5)

(b) What are the provisions of carry forward and set-off of unabsorbed

depreciation. (7.5)
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OR

(a) When an individual is assessable in respect of income from assets transferred

to son’s wife? (7.5)

(b) Explain the provisions relating to set-off and carry forward of losses under
the head “Capital Gains™. (7.5)
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5. (a) What do you mean by ‘Capital Assets’ for the purpose of taxability under
the head “Capital Gains™? (7.5)

(b) How cost of acquisition is computed in case capital assets have been acquired
by the assessee (a) before April 1, 1981 and (b) on or after April 1, 1981.
Also explain how cost of improvement is computed in case improvement is

incurred by the assessee (a) before April 1, 1981 and (b) on or after April
1, 1981. (7.5)
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OR

Imran purchased a house on 01-07-1976 for Rs. 90,000 which he gifted
to his son Junaid on 15-09-1985. The following expenses were incurred by

Imran and Junaid for the renewal of house:

Addition of two rooms by Imran during 1979-80 Rs. 50,000
Addition of first floor by Imran during 1984-85 Rs. 1,00,000
Addition of second floor by junaid during 1990-91 Rs . 1,50,000
Fair market value of house on 01-04-1981 was Rs. 1,25,000

Junaid sells the house to Rahul for Rs. 30,00,000 on 15-12-2015. Junaid
had to pay brokerage@1% for arranging this deal.

Compute the amount of capital gain chargeable to tax in the hands of Mr.
Junaid for the assessment year 2016-17.

The Cost Inflation Index for different years is as follows:

1981-82  : 100
1984-85 : 125
1990-91 : 182
2015-16 : 1081 | (15)
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TAOT BRI 1979-80 & TRA A T 9GN Y | 50,000 T

THAA EN 1984 -85 & SR Teell Al 9l TR 1,00,000 %
1990- 91 & IRW FAT T TEA WAlorel sigrlt 1A ‘ 1,50,000 %
01-04-1981 Tl #HA F IFE IR Heq o 1,25,000 %.
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T e & forg, - Frufor af 2016 - 17 ¥ Goivm o ot 9 - AR A= = wRae
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1981-82 : 100
1984-85 : 125
1990-91 : 182
2015-16 : 1081

(100)
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